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Solving One-Step Inequalities

1.    y + 3.14  <  9.42

Which numbers are in the solution set for y?      (Circle all that apply.)

6.28 9.42 3.14 6.2 6.82 6.5

2.    500h  ≥  10,000

Which numbers are in the solution set for h?      (Circle all that apply.)

25 30 15 10 35 20

3.    k - 1½  ≤  3¾

Which numbers are in the solution set for k?      (Circle all that apply.)

½ 5½ ¼ 3½ 5¾ 5¼

4.    40.9 + z  >  45.7

Which numbers are in the solution set for z?      (Circle all that apply.)

4.7 4.8 4.9 4.09 4.88 4.17

5.    10t  ≤  95,550

Which numbers are in the solution set for t?      (Circle all that apply.)

9,505 9,555 9,550 9,995 9,099 5,999
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ANSWER KEY

Solving One-Step Inequalities

1.    y + 3.14  <  9.42

Which numbers are in the solution set for y?      (Circle all that apply.)

6.28 9.42 3.14 6.2 6.82 6.5

2.    500h  ≥  10,000

Which numbers are in the solution set for h?      (Circle all that apply.)

25 30 15 10 35 20

3.    k - 1½  ≤  3¾

Which numbers are in the solution set for k?      (Circle all that apply.)

½ 5½ ¼ 3½ 5¾ 5¼

4.    40.9 + z  >  45.7

Which numbers are in the solution set for z?      (Circle all that apply.)

4.7 4.8 4.9 4.09 4.88 4.17

5.    10t  ≤  95,550

Which numbers are in the solution set for t?      (Circle all that apply.)

9,505 9,555 9,550 9,995 9,099 5,999
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